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The characteristics of the stilling basin for the gravity dam with an asymptotic spillway.
The Case-study for the shceme of Kaore pumped storage Power Plant
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(Electric Power Research & Development Center, Hydraulic Group)
In the scheme of Kaore pumped storage power plant, the gravity
dam is planed to have an asymptotic spillway with a widened
overflow section on its crestwhich is the first trial for Chubu
Electric Power Co.50,we researched the behavior of the flood
flowing down over the dam by the hydraulic model test. As a
result, we found the adequate height of the auxiliary dam and the
adeqguate length of the stilling basin.
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